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©@0.19 108 - 0.1x10=1
3 0.012] 10008} — 0.01 x 1000 = 10
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1
10009 —— — 1 001 =1
® 1000 ] Toog ~ 1000 % 0.00




Oh 0.74 = 74 2] 100 HHL YT},

o]
Lh 50 & —— 1000 =0.05 YUYt

€ 6.017 1A 72 0.01 & #A2] 9] =AY YTt

o) @Qu 9B @6H O M6

B

Ph0.74= 749 — 100 Ayt

th 509 —— 1000 £ 0.05 Ytk

B 6.017 ol 7 2 & AA A=, = 0.001 2 A YU




3. the %% 50 2718 HIRE ul, 45 A A7) Hlmslok sh
AL o AAUY

@® 43.923 , 43.832 @ 36.236 , 36.337
® 2.506 , 2.604 @3.654 , 3.658
® 8.012, 7.013

B

4249 A7 AAS BB S5 33, A7 goH
AR 2, B4 A=, AR 2] 4=9] 202 F7]E B
@ 3.654, 3.658-2 AAS, &5 AR, =7 ZH2|7F 3.65 =
7] w2l 4= A 2| 7hA] v wsof T,
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O 5 27171 22 718 AR o] 52 AL ol AU
@ (1.040 , 1.40) @ (0.004 , 0.04)
@(48.50 , 48.5) @ (0.101,0.110)

® (0.112,0.211)

Aol A gl 242 02 o] 7Hs gy,

wh2bA] 48.50 = 48.5 U T,




5. [ Rl ggke £ utEA A g A4S 12AS.

(1) 94cm = Dm
(2) 917m =[_Jkm

@)(1) 0.94 (2) 0.917
@ (1) 9.4 (2) 9.17

® (1) 94 (2) 0.917

@ (1) 0.94 (2) 9.17

@ (1)9.4 (2) 91.7

B

100cm=1m,lcm =0.0lm ,
1000m = 1km , 1m = 0.001 km
(1) 94cm = 0.94m

(2) 917m = 0.917 km




6. ta S99 TAS vEA UEd A2 o= AR e e,

@ 3km 5m = 3.5km @ 206g = 2.06kg
@3.27kg =3270¢g @ 0.057kg =570 g

® 50cm = 0.05m

~&B

@® 3kmbm = 3.005km
@ 206 g = 0.206 kg

@ 0.057kg =57g

® 50cm = 0.5m




JEAQ,

Hr= A A4t gk

filo

5o A

filo

(1) 2.683 +3.019 (2) 4.092 + 3.008

@ (1) 5.692 (2) 6.991 @ (1) 5.692 (2) 7.1
® (1) 5.702 (2) 6.991 @) 5702 (2) 71
® (1) 5.702 (2) 7.01

~&B

(1) 2.683 + 3.019 = 5.702

2.683
+ 3019
5.702

(2) 4.092 + 3.008 = 7.1

4.092
+ 3008
71
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[ ool gdgre 5 vt £ AL 2L,

(1) 5.789 4 2.981 =
(2) 3.892 + 5.002 =

@ (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
@ (1) 8.77 (2) 8.884 @) (1) 8.77 (2) 8.804
® (1) 8.771 (2) 8.894

(1) 5.789 + 2.981 = 8.77
(2) 3.892 + 5.002 = 8.894




2 5.62 + 7.7 gt A Y
°*°ﬂ gdore 2 AR H Y92 A

(1) 5.622 0.010] [ ]2l $g4Urh
(2) 7.7-€0.01] .

[ ]
(3)5.62+7.7=[ Jol &

@ (1) 56.2 (2) 77 (3) 13.32 @ (1) 56.2 (2) 770 (3) 13.32
@(1) 562 (2) 770 (3) 13.32 @ (1) 562 (2) 77 (3) 13.32
® (1) 562 (2) 7.7 (3) 13.32

(1) 5.62= 0.01°] 562 ¢ Fo|c},
(2) 7.7-2 0.01°] 770 §1 40|t}
(3) 5.62 + 7.7 = 13.32 °] Hch.




10. Theg e A4S e 12,

(1) 29.1 +2.34  (2) 17.46 + 1.86

@ (1) 31.35 (2) 19.22 @(1) 31.44 (2) 19.32
@ (1) 31.35 (2) 19.42 @ (1) 31.44 (2) 19.22

® (1) 31.35 (2) 19.32

(1) 29.1 +2.34 = 31.44
(2) 17.46 + 1.86 = 19.32




11. tYa& HaA AL g A=A L.

(1) 17.5 - 8.47 + 3.962
(2) 10.45 + 2.76 — 5.147

@ (1) 11.982 (2) 7.063 @ (1) 11.992 (2) 8.063
® (1) 12.982 (2) 7.063 @(1) 12.992 (2) 8.063
® (1) 12.995 (2) 8.063

(1) 17.5 — 8.47 + 3.962 = 9.03 + 3.962 = 12.992
(2) 10.45 + 2.76 — 5.147 = 13.21 — 5.147 = 8.063




12, ©heg vt AT AL 124,

(1) 7.81 4 2.89 - 2.31 (2) 3.334+11.32-8.73
@ (1) 8.29 (2) 5.82 @ (1) 8.29 (2) 5.92
® (1) 8.38 (2) 5.82 @ (1) 8.39 (2) 5.82
@) .39 (2) 5.92

(1) 7.81 +2.89 — 2.31 = 10.7 — 2.31 = 8.39
(2) 3.33 +11.32 - 8.73 = 14.65 — 8.73 = 5.92




13.

100 94712 54 171 4.87go 1, 50 98] 4 17]= 3.9¢go]gtr
Syt 1009 #E] 54 2709 50 9#tE] 54 370 5 o] Flo] ¥
g o FALA] FoHA L

@ 1009% 54 2707k 1.86 g B FHFU
@ 50942 54 3707 1.86 ¢ B FAF YT
® 1009#te] 54 2707 1.96 ¢ © T35
@)s0 972 52 37471 1.96¢ & BB
® 100 ¥4 54 2707F 1.97g B FHEHYTh

(100 972 T4 27])= 4.87 + 4.87 = 9.74( g)
(50972 T4 370)=3.9+3.9+3.9=11.7(g)
11.7-9.74 = 1.96( g)




